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BCOM_SEM_VI
A-325 ADVANCED ACCOUNTING -Ii

Time: One Hour

Instruction:
Attempt All Questions. Attempt Any 40 Questions.

1 Interest paid or dividend paid recorded to ------------

(A)Revenue A/C (B)Net Revenue A/C (C)Capital A/C
HEq T Feaes qeger orar TEaeT oEr

2 Revenue account i§ ----------
HEH ol =nmnmmeee .

(A)Trading A/C (B)P & L A/C (C)Both a and b
AT T T ATET o ar=arar ;o T

3 The functions of Electricity company is --------
[T

(A)Generation (B)Distribution and trading (C)Transmission
AT faaor srfor s ST

Faaq e FaeTr=ar STfteT e ----- =T JHTST 1.

(D)Asset
AT T

Max. Marks: 40

(D)None of the above

A

(D)ALI of the above

e 7

(A)Revenue A/C (B)Net Revenue A/C (C)Capital A/C and General Balance sheet (D)All of the above
5 Capital account indicates ---------
GLECITIS L] I rfadr
(A)Capital expenditure (B)Capital Receipts (C)Both a and b (D)None of the above
BIECEEcE BIECE R 1= gTearar T e T FEAIH TATEr
If capital receipts is Rs 10,20,000 and capital expenditure is Rs 10,16,000 Zl% contingency reserve is calculated on Rs.---------
T WTSTeAT AT %, 90,30,000 ST MTSTCT @9 % 90,9 000 AT . ZL% SFFT TS {0 - T FIAE.
(A)Rs 10,20,000 (B)Rs 10,16,000 (C)Rs 4,000 (D)None of the above
7 Share premium is --------
AT JTAT & -3
(A)Capital expenditure (B)Capital receipts (C)Asset (D)Liability
8 Which of the following is not capital expenditure
AT HUTAT S WTSaell &= ATar
(A)Building (B)Machinery (C)Furniture (D)Debenture
TN I=r STERT ol T
9  Which of the following is not capital receipts
FTCATATH AT S WTSaer T ATar
(A)Equity shares (B)Debentures (C)Bank loan (D)Machinery
10 Transfer to contingency reserve is recorded to ----
TS FHTEAT dhetell ST TF T --mmeme Atafadm.
(A)Net revenue A/C (B)Liability side (C)Both a and b (D)None of the above
Freaes Fege o AT FrRrar e e EREECI I
11 Depreciation charged on fixed asset of electricity company is recorded to -------
fa=e Fr=ar fea™ S9=iTay ST elr J8mT —-oeee e ¥ Frafaan.
(A)Revenue A/C (B)Liability side (provision) (C)Both aand b (D)None of the above
HEE o AT TAT A ([T73) ATErEr o Ao EREEI
12 Non- departmental incomes directly charged to -------
FarmemTsiT afore FHeter IeT=T ToTe - Frafaan
(A)Departmental trading A/C (B)Departmental P & L A/C (C)General P & L A/C (D)Balance sheet
famTrer s e famtrer o dreT orar T T AT T IEE
13 Labour welfare expenses are allocated on the basis of -----
Y FEATITHTS T @R [HITT —mmemmeeee FTHT AT ST
(A)No.of workers (B)Area used (©) (D)
FEIET SAT TFEY (FT) T
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14 Transfer of goods from A to B which account is credited
'A' T BT AT ST el 0T T ST T (el S

(A)'B' Account (B)'A' Account (C)Both aand b
BT 'A'ET Srearar o emfor

Tt LTI ST ---mo- AT Arafadm.
(A)Trading A/C (B)Asset (C)General P&L A/C
ST T T AT A/ AT T
16 When sales of Rs 1,00,000 and gross profit of Rs 20,000 then rate of gross profit is -------
Wﬁﬁﬁ"{?g,w,wo WWWFQ0,000 WWWW&T% -------
A) 20% B) 25% ©) 15%
30 TR Y TFR 9y TR

(A)General P & L A/C (B)Trading A/C (C)Departmental P&L A/C
GUET= T/ AT T ST T fermTrar T/ateT e

(D)None of the above

ERERIE

(D)ALI of the above
T T

(D)None of the above
greT ATar

(D)ALI of the above
qreT ATar

(A)Welfare expenses (B)Advertisement (C)Depreciation (D)Income tax
FeATT @ SfETT SENT ATHT

19 Canteen expenses are allocated on the basis of ---------
EA AR ARG B 1 R | ) | pe— =T AT FeAT ST,

(A)Sales (B)Average stock (C)No. of employees (D)Purchase
fa=r FITHIT T FHETT =T TUET

20 Allocate salaries and wages in the ratio of 1:2 between departments 'X' and 'Y' (If amount of salary & wages Rs 72,000) then X and Y=----------

X ZTTOr 'Y FErTTTeAT S AT AT 9:2 AT ST It ST AaeT ST AS[YT 92 000 % Sl 27 X! ST 'Y =c e

(A)24000 (B)48000 (C)24000
21 The period of return is expired, it can be called----------

AT FATTH HTATTL T —-mmmmoee D E

(A)Sale cretained (B)Rent (C)Both aand b
fa=ir e Frearar of sfor g
22 If the barrel return within a period only ------------ to be charged.
S BATAT faforss qaaie avel T hedie fad —----- TR AT
(A)Rent (B)Sales price (C)Purchase
CIE fa=ir B FET
23 The stock of Drums account is prepared -------
foga B0 e | p— AT T FTAT.
(A)At cost price (B)Selling price (C)Rental price
o e Forsfr e a7 e

(A)Profit (B)Loss (C)Profit or loss
TR dqrer T AT dleT

(A)Drums trading A/C credit side (B)Drums trading A/C debit side (C)Both aand b
FH SATIE S@r=aT ST At FH AT S@r=aT 79 aTeAr ar=arar o efor g

26 When cost is Rs 240 and scrap is Rs 30 and estimated life is 30 years, then depreciation per drum=---------------
STeRT TRUS % ¢ 0 ST STa9IT & 30 AT HARTHT AT 30 ¥ STHA a¥ Tedd FHAT TN =—mmmmmmmmm
(A)Rs 30 (B)Rs 70 (C)Rs 7

(A)cr. side of P & L A/C (B)Asset side (C)Both aand b
TR/ AT AT SET AT A ar=arar o e g
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(D)48000

(D)ALI of the above
T T

(D)Transfer
J2IEIGES

(D)ALI of the above
FAT T

(D)None of the above
I ATar

(D)None of the above
I ATEr

(D)Rs 3

(D)AII of the above
T T

(D)None of the above
LA ATar



29 Provision for un realised profit given in trial balance recorded to -------
VT THATET AR TFRH T TTHT oAl S q% = AR -----Frdr

(A)P&L debit side (B)Asset side (C)Receipt side
TR/ AT AT AT HAET AT HTT ATSeT

(A)Drawing (B)Capital (C)Both a and b
ITT rEaer ar=arar o e s
31 Intersest on capital is recorded to -------- as per adjustment.
TN HTSTATai o ST TR0 ------FAT ZTeTe
(A)P & L A/C Dr. (B)On liability side (C)Both a and b

32 Bank loan Rs 40,000/- secured on stock value Rs 65,000/- is called -------
TR FT € 0,000 F T FRETAT &Y 000 & ToATaY ATV G AT A8 T% HIT FATAT —-----FEUTATT

(A)Fully secured creditors
T R

33 Book debts are -------
JOT T () AT o e FIEIT AT

(B)Partly secured creditors (C)Unsecured creditors

STIElere g AT 9T

(A)Good (B)Doubtful (C)Bad
AT ERIPE CIECS
34 Taxes are ---------
TR & —-emeeees e
(A)Preferential creditors (B)Partly secured creditors (C)Fully secured creditors

S s T g e

(A)Net loss (B)Bad debts (C)Drawing / other losses
I dleT FET AT I / FAT AT

36 Deficiency account is debited to --------

& ABAT=AT AT ATSAT - I T

(A)Capital (B)Net profit/ other in come (C)Balance
arsaer I[§ TH/ZAT IeT~T ot

37 Doubtful debts Rs 200 estimated to realise 40%. the amount of bad debts is Rs----------
FOTRIT T AT 2000 & HETHA AT € 0% A 27 oI ATHET TFHH =-mmmmemn

(A)Rs 1200 (B)Rs 800 (C)Rs 2000
9300 & oo & 2000 &

38 Furniture book value 30,000 and realise value Rs 10,800. the difference Rs 19,200 is ------------
IR [T {30,000 & STV ST AT o 90,500 & TATATT Hidh 9%, 300 AT, AT ——--FEUAT.

(A)Other income (B)Other loss (C)Drawing
AT I~ AT AT T

(A)Asset (B)Other income (C)Asset & other income
Hir AT IoT T AT gqT Fea=
40 Increase in liability is ---------
ST TG AT -~ AHAT
(A)Profit (B)Loss (C)Botha &b
T qer =F =TT T &T=ar
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(D)Expenditure side

(D)None of the above
qreT ATar

(D)None of the above

(D)Preference creditors

SRR ITa

(D)ALI of these
RIEETC

(D)Unsecured creditors

ELMECREC

(D)ALI of the above
FHATH T

(D)ALI of the above
FAT T

(D)AL of these
FEATH TT

(D)Capital
BIECE

(D)None of these
FEATH ATAr

(D)None of these
FEAYE TTar
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